H & 0l & AHS B Ml A

B ASATA
oelr 2 2 OAIEALE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
A =R 21,516,214 19,665,872 1,850,342
= 3,802,767
[ 813,664
= 4,121,174
Al 12,778,609
SEEFxry 3,830,398 2,347,038 1,483,360
= 80,803
[ 781,000
= 591,664
Al 2,376,931
AT o AEAY 2,940,679 1,8%,913 1,043,766
= 38,303
= 781,000
= 420,659
Al 1,700,717
AL 177,000 171,800 5,200
203 =4l 3,000 3,000 0
03 A=A H R S| 3,000 3,000 0
OutE g R AIR=EIH 3,000
206 M=Hl 2,000 2,000
01 MHZH| 2,000 2,000
OXHT (AHEHl, 77 S) 2,000
401 Al HIZ 2018 172,000 166,800 5,200
01 Al&H| 171,136 166,800 4,336
Ogk XN&= ddl & =X
200, 0002 *130km*22] 52,000
OLHISIIEAIE R2ZNEAS (A2 8l
2 HZAY) 120,000,000 *99. 28% 119,136
03 Al 20HHI 864 0 864
OLTSIIEAIE RRNSAIL (A2 8
o SHZALY) 120,000,000 *0.72% 864
LAl (MEAHE)(XIXHIHZ) (M EALY) 568,862 580,885 N22,023
= 391,203
Al 167,659
101 21A4H| 15,392 14,656 736
s 10,774
Al 4,618
M ORNZZ2NSE S 16,392 14,656 736
Ogczela(2Y) 16,392
< 10,774
Al 4,618
401 Al HIZ 2018 543,470 566,229 NP2, 759
= 380,429
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oelr 2 2 OAIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 163,041
01 AlZ2H| 539,524 562,164 N22,640
OY M (HAUT 1.0km)
135,000,000 *99.28% 134,028
== 93,820
Al 40,208
O &I 2H(5km) 340,000,000 *99.28% 337,552
= 236,286
Al 101,266
OYE=22(13km) 57,974
= 40,582
Al 17,392
O = ARSI A AIHI(1.0km) 9,970
< 6,979
Al 2,991
03 Al 2CHYI 3,946 4,065 A119
OYMH (HALE 1.0km)
135,000, 0002 %0.72% 972
= 680
Al 292
O =702k (5km) 340,000,000 0.72% 2,448
[ 1,714
Al 734
O E=E=(13km) 526
= 368
Al 158
ArZI AL 490,000 100,000 390,000
401 Al HIZ S OHbI 490,000 100,000 390,000
01 AlZ2H| 486,940 99,100 387,840
OQ/TAIER O 2 A7 2 AFZARY
300,000,000 *99.28% 297,840
OdEd Mol RAS MAHAIE
250,000%400==%99. 10% 99,100
O&te SI1 7 & A= FH| SAHFL
o0l 4) 90,000
03 A& S THYI 3,060 900 2,160
OLIAIEROI S A2 AFZAIE S THYI
300,000,000 *0.72% 2,160
Odgd Mol A= MAHAIE 204
250, 0003 4005=+0.90% 900
ALAIE (A2 R E3) 510,534 450,028 60,506
308 AXIHS0IA 510,534 450,028 60,506
07 MM 2R 52 510,534 450,028 60,506
OHFREH BHEgEI NZRE= 1,412
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SH: AR=TI
M MRSALH
oelr 2 2 OAIEALE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,09
Al 470
CARE 50,0003 * 12043 600
= 240
== 252
Al 108
FUIL (LB 4DR)
148, 2003 »20! 2,964
= 1,186
& 1,245
Al 533
At ad| 98,8002 x 10! 968
= 3%
S 415
Al 178
ARl E 18,525@ 15+ 1200 & 3,335
= 1,334
< 1,401
Al 600
giao= 649
= 260
< 273
Al 116
=41 600,000% 1290 & 7,200
= 2,880
[ 3,024
Al 1,296
201 Ler23| 7,200 7,200 0
= 2,880
[ 3,024
Al 1,296
01 At2t2lt] 7,200 7,200 0
OLHAIEY Solgte tgk & &Hl 24Xt 7,200
= 2,880
== 3,024
Al 1,296
206 MH=HI 3,961 4,066 A105
= 1,584
== 1,662
Al 715
01 M= HI 3,961 4,066 A105
OXHALEN SEoee XL 3,961
= 1,584
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M MRSALH
oelr 2 2 OAIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,662
Al 715
LCAIL (HEAHE)(NAT2) (EX) 1,115,700 446,000 669,700
= 781,000
Al 334,700
401 AIEHIX R0 1,115,700 446,000 669,700
[ 781,000
Al 334,700
01 AlZ28| 1,111,684 442,789 668,895
OYEAIE (AH AT Bkm)
1,115,700,0002 *99. 64% 1,111,684
= 778,189
Al 333,49%
03 Al 2CHYI 4,016 3,211 805
OYME (AL U E Bkm) 4,016
= 2,811
Al 1,205
AFEALE (2 X) 28,700 91,700 263,000
= 14,350
= 4,305
Al 10,045
401 AIZHIX S0 28,700 91,700 63,000
= 14,350
= 4,305
Al 10,045
01 Al&H| 28,700 91,133 62,433
OAHALE 2RI XIS AEIZEAHATHA) 28,700
= 14,350
< 4,306
Al 10,045
NINEE 35,130 41,472 A6,342
sl d22E &l 35,130 37,130 22,000
201 er2 3| 35,130 35,130 0
01 AtR2telHl 35,130 35,130 0
o=l 7,000
Oget=EH| 25,000
OLIALERF XIS NI 8?23 &S+ 980
OxZ2 H-EX(EE) B8E 2,000
OS=Ma ARA Ol8SI| =& 150
LSS AANLES 854,589 408,653 445,936
= 42,500
= 171,005
Al 641,084
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&Rl MESSALES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2 x4 456,000 100,000 366,000
401 Al HIZL 201 456,000 100,000 366,000
01 Al&HI 455,100 99,100 356,000
Osttz 2= & A2l 99,100
O=F2F 0ol & 356,000
F=&d 106,000
-AEZE FXE 03 HESA 80,000
-SESE FEIYUSF ALEO| oA &4
N 6,000
=33 =X0s dB ZEAY 20,000
8 Rl 200,000
-Hate Sotat Sat2 FHl At 200,000
LS 50,000
-Ale a2 (UEg-grd dd) S 50,000
03 AIESTHYI 900 900 0
Osttz 2= & FX2d FUbl 900
L XL (X2) (HEALY) 200,000 200,000 0
[ 100,000
Al 100,000
401 Al HIZL 201 200,000 200,000 0
= 100,000
Al 100,000
01 Al&HI 198,560 198,560 0
OzZxd2el(4n)
50,000, 000 *4km*99.. 28% 198,560
= 99,280
Al 99,280
03 AIE S THYI 1,440 1,440 0
Os=ZA-2el(4km) SO
50,000,000 *4km*0.72% 1,440
S 720
Al 720
AEMHIAE R0l 2SR (EX)(HEAY) 66,545 63,373 3.172
= 42,144
Al 24,401
101 @1A4H| 65,045 61,873 3,172
=S 41,199
Al 23,846
04 JIZtN2Z2XNSE+ 65,045 61,873 3,172
O=ZSAXEA (1Y) 21,682
[ 13,733
Al 7,949
O=defzela(1g) 21,682
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&Rl MESSALES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,733
Al 7,949
O Al=X2el# (1) 21,681
= 13,733
Al 7,948
206 M=H| 1,500 1,500 0
== 945
Al 555
01 MHZHI 1,500 1,500 0
O=Z S TA =7 500
< 315
Al 185
O=dHacld He+ 500
= 315
Al 185
O Al=X2eld e+ 500
== 315
Al 185
sMTtel #E(EX) 37,044 36,280 1,764
= 1,11
Al 25,933
101 @124H| 37,044 35,280 1,764
= 1,11
Al 25,933
04 JIZtN22 XS 2+ 37,044 35,280 1,764
=oH&IH(1Y) 18,522
=S 5,555
Al 12,967
O=dgf2tele(1g) 18,522
= 5,556
Al 12,966
2O 23R EREAI(EX) 10,000 10,000 0
= 5,000
Al 5,000
401 AIEHIX 20HH 10,000 10,000 0
=S 5,000
Al 5,000
01 AlZ28| 9,892 9,892 0
O=Itete 2ot At 22
10,000,000 *98.92% 9,892
< 4,946
Al 4,946
03 Al 2 CHYI 108 108 0
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&Rl MESSALES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Jhte 2 Atat 22
10,000,000 *1.08% 108
& 54
Al 54
NoAsad 2e|(Ex) 85,000 0 85,000
= 42,500
= 12,750
Al 29,750
401 AIEHIX R0 85,000 0 85,000
= 42,500
S 12,750
Al 29,750
01 Al&HI 84,235 0 84,235
OE=2NHEYY SETUHHS A Al
] 85,000,000 %99. 1% 84,235
= 42,118
& 12,635
Al 29,482
03 A2 2 0HYI 765 0 765
OE=2NHHYY SHTUHHS A Al
Sasilsl 85,000,000& 0. %% 765
= 382
= 115
Al 268
MEES 2,967,965 4,903,580 1,935,615
= 652,255
= 427,301
Al 1,888,409
=== NN B 2,320,577 2,166,485 154,002
= 384,402
= 307,793
Al 1,628,382
A=Y RICH 2 121,350 71,800 49,550
201 er23y| 121,350 31,800 89,550
01 AtR2t2lHI 99,350 8,000 91,350
O RZAIDIHICH R EL) AIERX &
NI 500,000 *10H A 500
OMENe s2XE MAH(5E)
1,500,000& 565 7,500
Ott=HI42 24 & EH 7Y
315,000 290 91,350
02 S3=gHl 22,000 23,800 21,800
Our=dstE (5H) fFRUS 10,000
OLr= XAt (50) NHSREE I 1,500
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FA A=
B peEs
Rl MEYXITHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEAE R AEMAH(FFHI) 7,200
= 2,880
== 1,296
Al 3,024
SMETSHIA 7= & 2S(XNHBLEEXR)(EX) 27,465 27,465 0
= 10,986
== 4,944
Al 11,535
201 2= 20,065 20,065 0
= 8,026
= 3,612
Al 8,427
01 At 2|l 20,065 20,065 0
OdtEd3t SAHI 4,465
= 1,786
= 804
Al 1,875
OJNQIXISHEHI 24 (400H) 15,600
= 6.240
= 2,808
Al 6,552
202 04| 3,400 3,400 0
= 1,360
= 612
Al 1,428
01 =LHOHI 3,400 3,400 0
Ott=dst E2504I 3,400
= 1,360
= 612
Al 1,428
405 KHoHF S| 4,000 4,000 0
= 1,600
= 720
Al 1,680
01 AL =S F = 4,000 4,000 0
OxU=E 27| A 7Y 4,000
= 1,600
== 720
Al 1,680
SMETSHIA 7= & 2S(XNHM2EXR)(EX) 18,120 60,620 A42,500
= 7,248
< 3,262
Al 7,610
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SH: A=
B peEs
el AR EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,800
Al 4,200
At Holi S 2t 477,192 479,173 21,981
= 162,755
< 99,978
Al 214,459
2Bt HASLH(EX) 20,172 19,144 1,028
= 10,557
== 2,533
Al 7,082
101 e124d| 20,172 19,144 1,028
= 10,557
S 2,533
Al 7,082
04 JIZtN2Z2 XS 2+ 20,172 19,144 1,028
O =L ZHl(20ha) 3,466
= 1,781
= 505
Al 1,180
Ot e Xlare X (30ha) 5,519
= 2,880
= 790
Al 1,849
OZALEINH0IS LB A (1ha) 248
= 124
= 37
Al 87
OZALINOH0IS XI4HRI(30ha) 4,524
= 2,382
= 2%
Al 1,848
OZ0H0I XI&H2HI(10ha) 1,815
= 990
= 247
Al 578
Otl=dd e 2hl(sha) 921
= 480
= 132
Al 309
OJIErHE & HI(20na) 3,679
= 1,920
= 528
Al 1,231




FA A=
B peEs
=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ARITHOHL KRRl ZDI(ARI NS IR RIS (XX Z 97,620 91,442 6,178
&) (2x)
= 48,809
[ 14,643
Al 34,168
101 @124H| 83,449 70,904 12,545
= 41,724
== 12,517
Al 29,208
M ORNZZ2NSE S 83,449 70,904 12,545
OLtZ gl SO Z LM A22(48) 83,449
= 41,724
S 12,517
Al 29,208
201 2= 9,500 12,100 A2,600
= 4,750
= 1,425
Al 3,325
01 AtR2tc|HI 8,500 8,500 0
OWEYN SFE U &t S 8,500
= 4,250
= 1,275
Al 2,975
02 S3=gHl 1,000 3,600 A2,600
OUEYNL 2FE I =8 S 1,000
= 500
= 150
Al 350
206 M=l 4,671 8,438 N3, 767
= 2,33
= 701
Al 1,635
01 M=4l 4,671 8,438 A3, 767
OdgoliEs LM =M & 4,671
= 2,33
= 701
Al 1,635
ArETHSH Xt EDI(AH HoH S0l = Al e) (XIRFHIXE 2,606 2,606 0
2)(Bx)
= 1,303
= 391
Al 912
206 M=l 2,606 2,606 0
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FA A=
B peEs
=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,303
=S 391
Al 912
01 M=4l 2,606 2,606 0
OgHM&EH S A7 2,606
= 1,303
= 391
Al 912
e »2XE K@ (EX) 6,251 14,251 /8,000
= 3,125
= 938
Al 2,188
401 AIZHIX S0HH 6,251 6,251 0
= 3,125
= 938
Al 2,188
01 Al&H| 6,251 6,251 0
Odgd +==SAUZALE (25A) 6,251
= 3,125
< 938
Al 2,188
2o @2l & =i 2 120,000 100,000 20,000
401 AlEHIZ 2 0HbI 120,000 100,000 20,000
01 Al&H| 119,100 99,100 20,000
P54 S Lo+ MSBANM L HH T
A 100,000, 0002 *141%99. 10% 99,100
OHntH 2tsile BE5+ FH UMY (F
BIEOI 0 &) 20,000
03 Al 20HHI 900 900 0
0254 S L4 MSHAMNH L 2EHE
gAY 204l 100,000, 0002 *141+0.90% 900
25422 (CH 2 X) 9.600 21,280 75,320
= 70,980
Al 25,620
401 Al HIZ R 0HbI 96,600 21,280 75,320
== 70,980
Al 25,620
01 Al&HI 96,600 21,280 75,320
Ooesx2el(62)
6,100,000 2 S 4=6= 36,600
= 10,980
Al 25,620
OAHE =02 25+ FHIM(Z =8
00l 4) 20,000
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=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,000
ogael AUS = Z8AE (S F2EH
At) 40,000
[ 40,000
LIRSS 2 102,943 120,450 17,507
= 83,461
= 5,843
Al 13,639
401 AIEHIX R0 102,943 120,450 17,507
= 83,461
== 5,843
Al 13,639
01 Al&HI 101,911 119,310 A17,39
OTIoH DAF=2 Al (30ha) 2,957
= 2,070
[ 266
Al 621
OM&=Y ToiRcds AMEEHRI(50=2) 5,428
= 3,800
[ 488
Al 1,140
OO0l LI == AH(30ha) 84,552
= 70,800
= 4,434
Al 9,318
ORI &2l (20ha) 8,141
= 6,208
< 580
Al 1,353
O (H=Z2)LM(3H) 833
= 583
== 75
Al 175
03 Al 20HHI 1,032 1,140 A108
OM&EE SHAE FUY 1,032
oy dEd Y 25+ HAH 31,000 0 31,000
= 15,500
& 4,650
Al 10,850
201 er23 | 31,000 0 31,000
= 15,500
< 4,650
Al 10,850
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B peEs
=Rl AE g S 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 31,000 0 31,000
OSA MBR | 254 OEEG
500,000x62=2 31,000
= 15,500
< 4,650
Al 10,850
SMHoIE & MHsH 170,196 2,257,922 N2,087,726
= 105,098
[ 19,530
Al 45,568
SHHS S22l 1,760 1,840 A80
= 880
== 264
Al 616
202 04| 1,760 1,840 80
= 880
= 264
Al 616
01 2L AL 1,760 1,840 280
O=SMNE S&Eacl N=8A 1,760
= 880
= 264
Al 616
SMHAHAIE SHHSA 120,000 120,000 0
= 80,000
= 12,000
Al 28,000
402 2IZtA=01d 120,000 117,000 3,000
= 80,000
= 12,000
Al 28,000
02 QI X2 AL EE(0IETHE) 120,000 117,000 3,000
OSMHAHAIE SHUHSAE 1014 120,000
= 80,000
[ 12,000
Al 28,000
SN2 dZ2el 26,706 26,702 4
= 13,353
[ 4,006
Al 9,347
401 Al HIZL 201 26,706 26,702 4
= 13,353
s 4,006
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X XH -
o e

=aak

- ZF - HRA(3A) - MRAY

- HyS

Ofl &F2H

MEE
Ofl &k2h

9,347

01 AlIZHI

O=M=+=& HZ2tel(100ha)

hoH

=

26,706
26,706
13,353
4,006
9,347

26,702

hoH

=

1,730
865
260
605

2,580

A850

401 AIEHIZ 20

hoH

=

1,730
865
260
605

2,580

N850

01 A=l

OSTHASX 8% 2t

hoH

=

1,730
1,730
865
260
605

2,580

N850

Mo

=

20,000
10,000
3,000
7,000

20,000

Mo

=

20,000
10,000
3,000
7,000

20,000

Mho

=

20,000
20,000
10,000
3,000
7,000

20,000

Mo

7,212,416

495,000
2,250,000
4,467,416

4,342,784

2,869,632

1,916,416

1,899,784

16,632

1,916,416

1,899,784

16,632

S
2
e
S
=

580,056

801,254

N221,198

0 X {0
oo

o
U
0.

A(1H)
76,9602 #4214 » 1862
76,9602 x4 2 x482!

580,056
80,321
57,259
14,777

801,254

A221,198
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A AE=sIID
M =MCATA
ool BZAIXY (CHl )
A - B G(3H) - NRAY - HES ol b e HlmS2
A2 72,036,000 *11.5% 8,285
OURE ZRMA BX 012 (£Al) 25,860
Jl2a 76,9602 * 122 x3H +83| 22,165
ReEsdsY 76,9603 x22 *3H «83] 3,695
O2RE x&E2d L AldES2e| 1R 20,082
JlE3 76,9602 x1H x1862 14,315
FEsdsY 76,9602 * 12 43 3,6%
4OHEE 18,010,000& *11.5% 2,072
OE sS4 220E = 22(5,AE2) 2
ool 20,082
=z 76,9602+ 124% 186 14,315
FEsdsY 76,9602 * 12 43 3,6%
4OHEE 18,010,000& *11.5% 2,072
084 Jt122 JHI(&EX, 8= 4 &2=H
H o) ®,352
2=
192,400 6B +5U 13|+ 16 S H P®,352
O=x=gd4 el X Mg(nF)elgY 301,197
JlE22 192,4002 x6H x 186 214,719
- ReEFYsY 192, 4002 6% 48 55,412
42 270,131,000 *11.5% 31,066
Oxd s 22| 24=E Xel oY 40,162
J|lE2s 76,960 2 H 186 28,630
ReEsdsY 76,9603 x2H +482 7,389
42 36,019,000&*11.5% 4,143
201 L2 | 62,640 63,840 A1,200
01 AtR2telt] 38,240 38,240 0
OZHX =&KX CHHZHE HH|
200,000 * 1000 2 2,000
Oxg4 22| gl xul(=2del)
590,000& *60CH 35,400
OZAY =4 - 2te| dofIs AR
=1 70,0002 x6H*23 840
02 3324l 24,400 25,600 A1,200
OLREY 2323 (I, &)
200,000& =123 2,400
OE S84 AUE = SRS (XD, +5)
300,000& 123 3,600
O&d% 8|9 3323 (HJ, =&5)
200,000 123 2,400
OZXZAIL 22 xrz4t) ==t
1,000,000& =123 12,000
OXZAE 22Xt UHSIHES Ot
500,000 *4CH 2,000




A A=
R =MTA|XA
2 REARL (el @e)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZXZAIE ZHI(EH, 240) | 22l
1,000,000 *2CH 2,000
206 =4I 155,720 149,690 6,030
01 XM= 4l 155,720 149,690 6,030
02 22l HHPY(AH HIEZ, 5017 S
) 20,000 +270H 5,400
OLRE BRMY UY 22 29
1,640&+3,000 £ 4,920
Ol 2L 2el X (HIg, gl S)2
= 20,0002 180K 3,600
OFEEN, E2M, EXM S dAMs 22+
= 300&*90,000=2 27,000
OAZY =318 MA UM(BXLEE S) 2
2 4,500,000 43! 18,000
Otz s 23X MHH(RE 8) 7
600,000& x 102 6,000
OJtz & ZFX HUIXH(R, S, 8 X0
g) ¢ 1,000,000& « 102 10,000
Oz L =X el XM (2, Edl) 2
o 1,000,0002! 108 10,000
OQAH BUX AR 21, 22 2
3,000,000 *42] 12,000
O2#¥ BUX T4 BRIXM(BH, P&
Hl, g 8 )7 2,500, OOOJ*4§| 10,000
O2& ZChel(4hL) MTHE 28
2,000, OOO% *4 ) 2423 16,000
OSSa AE = R2IXM(SF, AT
= 20,000 180K 3,600
OdlMots 22X =4 XM (LA HIZE S)
= 10,0002 105 +72K 7,200
OJt2= Holls ¢Hl 2FH &
100,000 * 1203 12,000
O=Xth & Jt=23tet FHIXH (R, S, & X0t
? 8) 7g 1,000,0002 *10& 10,000
401 AIEHIZL SR OHYI 1,118,000 885,000 233,000
01 AlZHI 1,113,626 882,696 230,930
O eI ZEAME
10,000,000& * 14! 10,000
Od8 24X Z8AHY
30,000,000 *98.92% 29,676
OOtEECALIR HollE YA
15,000,000& %13 15,000
O&E=2H Ji2ad ZHIAMY
1,000,000 * 100km*99. 1% 99,100
OG22 FHIAI (2HL)
15,000, 000%24 2~ 30,000
O8dsel Z2HA gAY 10,000
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SA A=
M =MCAITA
el Ba=st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANXH EAl=, Bas, o2+, dS0Es S 28AM 1,600,000 1,490,000 110,000
A (HEAY)
= 800,000
Al 800,000
401 AIEHIX S0 1,600,000 1,490,000 110,000
= 800,000
Al 800,000
01 A28l 1,563,360 1,455,879 107,481
OZAl= =4(1.1ha) 683,970
== 341,985
Al 341,985
OJtz= Z&(6.7Km) 879,390
= 439,69
Al 439,69%
02 Zeltl 26,560 24,734 1,826
O&AlE Z24(1.1ha) Zelbl 11,620
=S 5,810
Al 5,810
OJt2= Z=4(6.7km) Zelbl 14,940
< 7,470
Al 7,470
03 A2 THYI 10,080 9,387 693
OZAlz =4(1.1ha) 20HHI 4,410
= 2,205
Al 2,205
OJt2= 24 (6.7km) 20l 5,670
== 2,83
Al 2,835
SMTUSXZAIE (EX) 200,000 163,000 37,000
= 200,000
201 et 3| 400 400 0
= 400
01 At2teltl 400 400 0
O=AAE Us= &d EH.AS N2 400
= 400
401 Al HIZL 201 199,600 162,600 37,000
= 199,600
01 Al&HI 193,652 162,600 31,052
O=TIAE Liss =4
199,600,000 %97 .02% 193,652
= 193,652
02 2/l 4,510 0 4,510
O=TIAE Liss =4 4,510
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SA A=
SR NESE
&t Fa=st (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,510
03 AlESTHYI 1,438 0 1,438
O=TAE Liss &4
199,600,000 0.72% 1,438
= 1,438
A0LE Jie=2 4X 90,000 90,000 0
= 45,000
Al 45,000
401 AIEHIZ R 0HYI 90,000 90,000 0
= 45,000
Al 45,000
01 Al&H| 87,498 87,498 0
OADIE JtE2 ERI(3H4)
30,000,000 *37H 2+97 . 22% 87,498
= 43,749
Al 43,749
02 Zeltl 1,854 1,854 0
OADE JtEZ &3 22|
30,000, 000& *37H 2=*2.06% 1,854
= 927
Al 927
03 Al 2CHYI 648 648 0
OADIE Jbeg & 2l
30,000, 000& *37H 2=+0.72% 648
= 324
Al 324
MEUXAE THAY 500,000 0 500,000
= 250,000
Al 250,000
401 Al HIZL S 0HYI 500,000 0 500,000
= 250,000
Al 250,000
01 Al&H| 486,950 0 486,950
MEBURSZE TAAY
500,000,000 * 17 2=*97 . 3%% 486,950
= 243,475
Al 243,475
02 Zeltl 9,450 0 9,450
OMEURSE T
500,000,000 *1JH 2=*1.8%% 9,450
= 4,725
Al 4,725
03 Al 2 CHHI 3,600 0 3,600
OMBUREE TLA
500,000,000& * 170 2=+0. 72% 3,600
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SA A=
M =MCAITA
el Ba=st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,800
Al 1,800
LA e 2,900,000 600,000 2,300,000
= 1,450,000
Al 1,450,000
St XIZEI LAY (HEAY) 2,900,000 600,000 2,300,000
=S 1,450,000
Al 1,450,000
401 AIEHIZ SR THYI 2,900,000 600,000 2,300,000
== 1,450,000
Al 1,450,000
01 Al&H| 2,846,640 586,260 2,260,380
Ognte XNgEHA x4 2,846,640
S 1,423,320
Al 1,423,320
02 Zeltl 42,920 9,960 32,960
Ol Ngda SdAg &eltl 42,920
= 21,460
Al 21,460
03 Al 20HHI 10,440 3,780 6,660
Oglte NgEE gAY 20l 10,440
[ 5,220
Al 5,220
MEASSH 6,163,430 6,728,209 A564,779
= 2,574,709
= 843,909
Al 2,744,812
SEFY 4,348,481 4,354,208 Nb, 727
= 2,050,998
< 658,585
Al 1,638,898
FMEIIRIN(ER) 2,372,462 2,283,504 88,958
= 1,186,231
== 365,869
Al 830,362
401 AIEHIZ R HYI 2,372,462 2,283,504 88,958
= 1,186,231
=S 365,869
Al 830,362
01 AlZ28| 2,361,063 2,273,348 87,715
OZXEXIIOHI|(%40ha) 1,625,666
= 812,833
= 243,850
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FA A=
mu: pARIASE(
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 568,983
O LISt I1(250na) 430,7%
= 215,398
= 64,620
Al 180,778
OS2 IH2I1(30ha) 51,603
= 25,802
= 7,740
Al 18,061
OdHE M E =12 01(60ha) 226,171
= 113,085
= 33,925
Al 79,161
Ott=+8 26,827
= 13,414
= 4,024
Al 9,389
03 AlZ 2 THHI 11,399 10,156 1,243
OZZXIIHI| 2l 5,874
= 2,937
= 881
Al 2,056
OO LIRIHRD| 20 3,124
= 1,562
= 468
Al 1,004
O2USIH0| 20| 467
= 233
= 70
Al 164
OLr20I2=IH20] SO 1,641
= 821
= 247
Al 573
OttE=& 20l 293
= 146
= 44
Al 103
S EIRI(RXIEHIXHZ ) 235,278 234,086 1,192
= 119,189
= 34,827
Al 81,262
101 @124H| 226,718 224,214 2,504




FA A=
mu: pARIASE(
=9l dERd EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 114,909
=S 33,543
Al 78,266
04 JIZtNZ2Z2XNSE+ 226,718 224,214 2,504
= IRI|RHR EALEH(3H) 71,640
= 35,820
= 10,746
Al 25,074
OLSBIOIRDHA =EEHTH) 151,978
= 75,989
= 22,797
Al 53,192
O=IHI| A ZAE W= 1,350
= 1,350
O4tEHI0I20 A =& w=h] 1,750
= 1,750
201 er2&| 1,800 1,800 0
= 900
< 270
Al 630
01 At2teltl 1,800 1,800 0
O=HUIINEZAE =8 AIRES 7 1,800
= 900
== 270
Al 630
202 04l 4,000 4,000 0
= 2,000
== 600
Al 1,400
01 =LHO LI 4,000 4,000 0
OugHoIQifA=EE X & 2= 4,000
= 2,000
=S 600
Al 1,400
206 M=l 2,760 4,072 1,312
= 1,380
= 414
Al 966
01 M=4l 2,760 4,072 1,312
O4tEBI0I20 A +=&E X 2,760
= 1,380
= 414
Al 966
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FA A=

ma: NRIASE(

Chel: AT (19 @)
RA - BB I(S) - MRAE - A HIDEZ
S 5,000 5,000

201 Zet=d] 5,000 5,000
01 At2teltl 3,000 3,000
OalsgeAL A 3,000
2 =523l 2,000 2,000 0
OUENAFTIANY FUE AU =&/
=t 2,000
SASIHRIN(EX) 89,4%4 81,360 8,134
= 44,747
= 13,424
Al 31,323
401 AIEHIX 20 89,4%4 81,360 8,134
= 44,747
= 13,424
Al 31,323
01 AlZH| 88,688 80,628 8,060
O3 =IH01(33na) 88,688
= 44,344
= 13,303
Al 31,041
03 AIZ 2 THYI 806 732 74
O3 =It1J| 20l 806
= 403
= 121
Al 282
=HIINEE =29 180,508 147,279 3,229
= 75,879
= 22,389
Al 52,240
101 @124H| 121,156 122,834 1,678
= 61,203
& 17,986
Al 41,967
M ORNZZ2NSE S 121,156 122,834 1,678
O=It1I] HEES MAH(5EY) 119,906
JlEag 92,182
= 46,001
& 13,827
Al 32,264
RPN RIS 18,267
= 9,14
< 2,740
Al 6,393
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FA A=
mu: pARIASE(
=9l dERd EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- AXt=E 4,248
= 2,124
== 637
Al 1,487
-EE= 5,209
= 2,604
== 782
Al 1,823
Ot HEE AIEE W=t 1,250
= 1,250
201 223 29,352 24,445 4,907
= 14,676
= 4,403
Al 10,273
01 At 2|l 27,352 22,445 4,907
O=IHIHEE €28 & & I &
Xt 10,000
= 5,000
= 1,500
Al 3,500
O=IHIIHEE A X7 17,352
= 8,676
= 2,603
Al 6,073
02 s3=gHl 2,000 2,000 0
O HEE AHEE FFHI 2,000
= 1,000
= 300
Al 700
BANTEE 213,340 376,327 A162,987
= 48,440
= 49,470
Al 115,430
401 Al HIZ S OHbI 213,340 376,327 162,987
= 48,440
= 49,470
Al 115,430
01 Al&H| 211,804 373,618 161,814
OEStAN2 A (15ha) 211,804
= 48,080
& 49,096
Al 114,628
03 A2 2 0HYI 1,536 2,709 A1,173
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FA A=
mu: pARIASE(
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEtA M2 A (15na) 1,536
= 360
== 374
Al 802
ZURXRE 134,316 123,460 10,85
= 31,925
== 30,717
Al 71,674
401 A2 HIZL 201 134,316 123,460 10,8%
= 31,925
= 30,717
Al 71,674
01 A28l 132,978 122,350 10,628
O2UPSAxEE(3na) 35,760
= 17,880
= 5,364
Al 12,516
OAHed THH ol 2 =& (10ha) 61,662
= 1,850
= 17,882
Al 41,930
Ot THoH = 28 (4ha) 35,556
= 1,733
= 7,11
Al 16,712
03 AIESTHYI 1,338 1,110 228
O2UP3AxE(3na) 390
= 195
& 58
Al 137
OAHed THH ol 2 =& (10ha) 560
= 146
= 186
Al 228
Ot ol =57 X8 (4ha) 388
= 121
= 116
Al 151
N e 208,172 208,170 2
= 104,086
= 31,226
Al 72,860
401 AIEHIX SO 208,172 208,170 2




FA A=
mu: pARIASE(
=9l dERd EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 104,086
=S 31,226
Al 72,860
01 Al 206,674 206,672 2
OXISS3ate 8 (10ha) 206,674
= 103,337
= 31,001
Al 72,336
03 AlESTHYI 1,498 1,498 0
OXIS9S3ate 8 (10ha) 1,498
= 749
= 225
Al 524
Mg &4 805,091 820,102 A15,011
= 373,001
= 100,440
Al 331,560
401 AIEHIX 20HH 675,491 690,502 A15,011
= 286,691
= 87,480
Al 301,320
01 Al&H| 671,236 686,152 14,916
OZHe =& (135ha) 671,236
= 284,872
< 86,992
Al 299,372
03 Al 2 HHI 4,255 4,350 aN® S
OZHE =4 (135a) 4,255
= 1,819
< 488
Al 1,948
402 2I2FX+=01 & 129,600 129,600 0
= 86,400
< 12,960
Al 30,240
02 QI X2 AL EE (01X THE) 129,600 129,600 0
OS&8= ¢ REEXXZ(20ha) 129,600
= 86,400
== 12,960
Al 30,240
Wt 134,820 74,920 59,900
= 67,410
== 20,223
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FA A=
mu: pARIASE(
o7l AESd (9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 47,187
401 AIEHIX 20 134,820 74,920 59,900
= 67,410
= 20,223
Al 47,187
01 Al&H| 133,850 74,246 59,604
Oust+ =&l (%ha) 133,850
= 66,925
& 20,077
Al 46,848
03 A2 THYI 970 674 2%
Ougt+ =&l (%ha) 970
= 485
S 146
Al 339
MEHASI|EEY 1,104,638 1,802,963 698,325
= 368,618
< 169,985
Al 586,035
SHSAKX 2e] 10,000 10,000 0
301 EtE NS 10,000 10,000
11 dAMEEIXIE S 10,000 10,000
OZLE=HA =32 FIot2a
90,0003 20 1,800
OYg=AHA M= lHal HIt24)
60,0002 *50H 3,000
OodgZ3gRdstn Ws FIt2d
100,000& +20& 2,000
Oz&d - 48P = s 2L
40,0002 x40 23| 3,200
g0l HE5 LMK BES(EX) 14,400 14,400 0
s 2,880
Al 11,520
201 =3 14,400 14,400 0
[ 2,880
Al 11,520
01 At2t2ltl 14,400 14,400 0
OXSAL M A=T|
72,0002 x2005 14,400
= 2,880
Al 11,520
LASAZSIXA(EX) 119,045 205,913 86,868
= 47,618
= 21,428
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FA A=
mu: pARIASE(
Belr AEASIIERY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 49,999
307 gl2tol & 119,045 205,913 86,868
= 47,618
= 21,428
Al 49,999
02 2IZHBYAIHE X 119,045 205,913 86,868
Ogtts &3t A3 119,045
= 47,618
S 21,428
Al 49,999
LAUSMAIBIEL(EX) 173,500 102,647 70,853
= 69,400
< 31,230
Al 72,870
402 QI2F X201 & 173,500 102,647 70,853
= 69,400
== 31,230
Al 72,870
02 QI TH2AILEE (01X THE) 173,500 102,647 70,853
Oets Mol ZEAMY 173,500
= 69,400
=S 31,230
Al 72,870
ARSI E(EX) 125,000 112,275 12,725
= 50,000
=S 22,500
Al 52,500
402 2I2FXH=201& 125,000 112,275 12,725
= 50,000
= 22,500
Al 52,500
02 QI XHZ AL E R (01X THE) 125,000 112,275 12,725
Ogdts RSIIE ZEAIY 125,000
= 50,000
= 22,500
Al 52,500
BB AMSTHEH 2 (EX) 80,150 496,727 A416,577
= 56,000
= 7,350
Al 16,800
402 QIF X201 & 80,150 49,727 A416,577
= 56,000
< 7,350

83




FA A=
mu: pARIASE(
Chelr MEASI|PEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,800
02 QIZEXHE A B X (01 &THE) 80,150 49,727 A416,577
Ozletd it= o2l 80,150
= 56,000
= 7,350
Al 16,800
MEASHMHR(EX) 303,400 673,001 /369,601
= 135,600
= 50,340
Al 117,460
402 QI2FX+=01 & 303,400 673,001 A369,601
= 135,600
< 50,340
Al 117,460
02 QI X2 AL EE(0IETHE) 303,400 673,001 369,601
OMBRSMAT(R2) 53,400
2 35,600
< 5,340
Al 12,460
OLHH XS MANEHT] (A ) 250,000
= 100,000
== 45,000
Al 105,000
AHEHASHE THE X2 67,500 83,000 215,500
402 QI”F X201 & 67,500 83,000 A15,500
01 QI X2 AL E R (KEMITHE) 67,500 83,000 /15,500
O/FTHLIZ THHH X 2 AHY
3,000, 000 *207H 2= %50f% 30,000
& THHHXIZ AL
7,500,000 *107H A +50% 37,500
MEASHE ZIHIA XA 50,000 50,000 0
402 212 X201 & 50,000 50,000
01 QI X2 AL E R (KHMITHE) 50,000 50,000
OHIX FedlE A&
2,50021+8, 0007 x5 I++50% 50,000
FIAEQ MEASHE HOHKIZALE 13,500 25,000 A11,500
402 2IZtA=01d 13,500 25,000 A11,500
01 QI X2 AL E R (KM THE) 13,500 25,000 211,500
OAMEL MIHF B=Hl N2
3,000, 0002 44 2= +50% 6,000
OF&tEQ 5 B=H| K&
7,500,000 *2JH 2= %50f% 7,500
452U 132 SEIAMY 38,000 30,000 8,000
402 QI>F X201 & 38,000 30,000 8,000




FA A=
mu: pARIASE(
Chelr MEASI|BES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QI X2 AL E A (KEMITHE) 38,000 30,000 8,000
OU= datsIt SN FedlE X3
200, 0002 305 I++50% 3,000
OZU= datsot 248 &Xdls N
7,000,000 (S & )*10=IH+50% 35,000
L2 WA 24 X2 60,000 60,000
402 2I2E X201 & 60,000 60,000
01 QI XH2AILE X (KHMITHE) 60,000 60,000
Oz st 34 X
2,000,000 *3055 7 H50% 30,000
OD24 5t F4+E X
2,000,000 *30= I H+50f% 30,000
SHIHENRAIE 10,643 0 10,643
== 4,257
Al 6,386
307 212+01& 10,643 0 10,643
== 4,257
Al 6,386
02 LB HAHE L 10,643 0 10,643
oggel HAR X 10,643
= 4,257
Al 6,386
SAHEMEOE 23X XA 9,500 9,500
402 2IZtA=01d 9,500 9,500
01 QI XHZ AL E R (K THE) 9,500 9,500
OLEMEIDIE YRB A X3 AE
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